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1 Pure photon

Consider the configuration ( -, +, +, -) where we have
(1?2317 | > gi52"t (1)
1,

Note that due to the (14)2[23]? ~ ¢? prefactor, we will not have any t-pole obstruction.
e (22,t*): The space is one-dimensional, and the bound is simply

o < 920
20 do.2

e (2%, 2%t%2 t1): The critical spin is s. = 4, spin-2 is inside the hull, i.e. not a vertex. The boundaries

are:
(X,i,i+1) >0for, ¢>5,(X,4,3)>0, (X,3,5)>0 (2)
7
8
Qut[120]=
ut[120] 0
, 9
02f
01f
* 0.2 04 0.6 0.8

This plot was made by plotting the vectors

(Ve, 4,3) (Ve, 00,4) )

Ve = .
! ({Vg,4.3) + (Ve,00,4) + 17 (Ve,4,3) + (Vi,00,4) + 1




o (2 2% 2 ) The eriical spin s 8, = 4, sin-2 s nside the bl The boundaries an
WXL+ >0t 20 K340 50 (K3T60 (X58750 (X598
i

Using the vectors

; 45 16T

o= BB BT+ By, 00g) +1 (V8 431+ BLVR6Th+ BBV o0 00941

I:S‘ h* oy, 'I’E:I
T BT+ B g

15|




2 Pure Graviton

Consider the configuration ( -2, 4+2, 42, -2) where we have

(14)4[23)* Zgi?jz'—tj)

,j
The exchanged spin begins with spin-4
e (2%,1%): The space is one-dimensional, and the bound is simply

¥l
= %0
36 g0

(8)

. (24, = t4): The critical spin is s, = 6, spin-4 is inside the hull, i.e. not a vertex. The boundaries

are.

(X,i,i+1)>0for, i>7(X,6,5)>0,

07}
06/
05}

04}
Out[175}= 03
02}

0.1F

L6

(X,5,7) >0

9)

T 0z 04 06
This plot was made by plotting the vectors

V=

(V. 6,5) (Ve, 0, 6)

((%,6,5) + (Vg,00,6) + 17 (V,6,5) + (Vp,00,6) + 1

)
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